Balancing Equations and Simple Stoichiometry-KEY

Balance the following equations:

1) 1Nz +3Fz:=> 2NF;3

2) 2CgH10+17 02 > 12 COz + 10 H20O

3) 1 HBr + 1 KHCO3z; > 1 H:O +1 KBr + 1 CO»

4) 2 GaBrz + 3 NaxSO; = 1 Gax(S03); + 6 NaBr

5) 35n0O + 2NFz 2 3 SnFz2 + 1 N2O3

Using the equation from problem 2 above, answer the following questions:

6) If | do this reaction with 35 grams of CeH10 and 45 grams of oxygen, how
many grams of carbon dioxide will be formed?
When you do this calculation for 35 grams of CsHq0, you find that 113

grams of CO; will be formed. When vou do the calculation for &7 -
? KCIO- .. - 2 Kl .. + 305
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2012-2013




